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6) [20 points] Propose a synthesis of B starting from A. _

OH
A B

B) Circle the best nucleophile for the electrophilic aromatic substitution reaction.
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6. (11 points) Provide a synthesis that will selectively convert A to B. Show all the key

8.

- intermediates and furnish  all the important reagents. This is not a one-step process.

0 0
i HO |
L.\Me ) i = A
-
B

Synthesize the indicated compounds from the allowed starting materials shown
below. All of the carbons of the target compounds should be derived from the
allowed starting materials.

©
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a . Propose a synthesis of B starting from A.

A B

g_ Propose a synthesas of B start:ng from A You must use the Heck reaction somewhere
..... . ’ ) B .
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5 g 14 points] .The followmU compound was formed by a Cope rearrancement Show
e substrate for the Cope rearrangement e ) :

' Cop_e __rearrangement

B ‘ ‘ - .The followmg compound was farmed by a DteIs—Alder cyclt)addmon.
Show the substrate for the &els—Alder cycloaddltmn L .

" Diels-Alder -

2. . Circle tge.proquct_ that will form in the Diels-Alder reaction between @
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. (22 points total) Using retrosynthetic analysis, propose a
: synthesis of the molecule to the right (A). You may use any
. reagents you wish, as long as your starting materials and any
- -other reagent that is used 1o install a carbon that is found in the
“:final product (target molecule A) have no more than 6 ‘carbon
- atoms. -For ‘example, 1,3-butadiene and benzene would be.
~ acceptable, but benzyl bromide (PhCH:Br) would notbe. = -~ '

- Write your synthesis in lt'he_ ‘_‘szfw_él_"d”' diréétion; shévﬁing ah o
steps and reagents necessary. (You may include solvents, but , BT
you are not required to do so.) Draw a box around or circle target molecuie (A)
your final synthesis. . ' '

mt— .Use a Diels-Alder reaction. )
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